Grflt12sx1-v5.f

c

c *** Quality Factor of Vs ***

c

      Function FuncQS(OM,L)

c

      IMPLICIT REAL*8 (A-H,O-Z) 

      complex*16 OM            

      COMMON /STRC/DNS(20),VP(20),QP(20),FP(20) 

     *            ,VS(20),QS(20),FS(20),THK(20),NL 

C 

      NC=20 

      IF(NL.GT.NC)THEN 

         WRITE(10,*)'FROM OTDAT:NL>NC',NL,NC 

         STOP 

      END IF 

c

      OMR=dreal(OM)

      if(OMR.eq.0.d0)then

        FuncQS=QS(L)

      else

        freq=dreal(om)/6.2831853072d0

        FuncQS=QS(L)*freq**FS(L)

      end if

c

      return

      end    
Grflt12sx1-v5d.f

c

c ***  Vs of Attenuating Medium ***

c

      Function FuncVSc(OM,L)

c

      IMPLICIT REAL*8 (A-H,O-Z) 

      complex*16 OM,FuncVSc

      COMMON /STRC/DNS(20),VP(20),QP(20),FP(20) 

     *            ,VS(20),QS(20),FS(20),THK(20),NL 

C 

      NC=20 

      IF(NL.GT.NC)THEN 

         WRITE(10,*)'FROM OTDAT:NL>NC',NL,NC 

         STOP 

      END IF 

c

      pi=datan(1.d0)*4.d0

      pi2=pi*2.d0

      OMR=dreal(OM)

      if(OMR.eq.0.d0)then

        QSe=QS(L)

        FuncVSc=VS(L)*DCMPLX(1.D0,-0.5D0/QSe)

      else

        freq=dreal(om)/pi2

        if(FS(L).ne.0.d0)then

          QSe=QS(L)*freq**FS(L)

          FuncVSc=VS(L)*DCMPLX(1.D0,-0.5D0/QSe)

        else

          FuncVSc=VS(L)*(1.d0+dlog(OMR/pi2)/(pi*QS(L))

     *                  -DCMPLX(0.D0,0.5D0/QS(L)))

        end if

      end if

c

      return

      end    
Grflt12sx1-v5a.f 
c

c ***  Vs of Attenuating Medium ***

c

      Function FuncVSc(OM,L)

c

      IMPLICIT REAL*8 (A-H,O-Z) 

      complex*16 OM,FuncVSc

      COMMON /STRC/DNS(20),VP(20),QP(20),FP(20) 

     *            ,VS(20),QS(20),FS(20),THK(20),NL 

C 

      NC=20 

      IF(NL.GT.NC)THEN 

         WRITE(10,*)'FROM OTDAT:NL>NC',NL,NC 

         STOP 

      END IF 

c

      pi=datan(1.d0)*4.d0

      pi2=pi*2.d0

      OMR=dreal(OM)

      if(OMR.lt.pi2)then

        QSe=QS(L)

        FuncVSc=VS(L)*DCMPLX(1.D0,-0.5D0/QSe)

      else

        freq=dreal(om)/pi2
        if(FS(L).ne.0.d0)then

          QSe=QS(L)*freq**FS(L)

          FuncVSc=VS(L)*DCMPLX(1.D0,-0.5D0/QSe)

        else

          FuncVSc=VS(L)*(1.d0+dlog(OMR/pi2)/(pi*QS(L))

     *                  -DCMPLX(1.D0,0.5D0/QS(L)))

        end if

      end if

c

      return

      end    

Grflt12sx1-v5c.f

c

c ***  Vs of Attenuating Medium ***

c

      Function FuncVSc(OM,L)

c

      IMPLICIT REAL*8 (A-H,O-Z) 

      complex*16 OM,FuncVSc

      COMMON /STRC/DNS(20),VP(20),QP(20),FP(20) 

     *            ,VS(20),QS(20),FS(20),THK(20),NL,NQ

C 

      NC=20 

      IF(NL.GT.NC)THEN 

         WRITE(10,*)'FROM OTDAT:NL>NC',NL,NC 

         STOP 

      END IF 

c

      pi=datan(1.d0)*4.d0

      pi2=pi*2.d0

      OMR=dreal(OM)

      if(OMR.eq.0.d0)then

        QSe=QS(L)

        FuncVSc=VS(L)*DCMPLX(1.D0,-0.5D0/QSe)

      else

        freq=OMR/pi2

        if(NQ.eq.0)then

          QSe=QS(L)*freq**FS(L)

          FuncVSc=VS(L)*DCMPLX(1.D0,-0.5D0/QSe)

        else

          QSe=QS(L)

          FuncVSc=VS(L)*(dlog(OMR/pi2)/(pi*QSe)+DCMPLX(1.D0,-0.5D0/QSe))

        end if

      end if
